feror qd weg Yerd
South East Central Railway
HEd PUfad, Divisional Office,
Eﬂﬁﬂ?ﬁm, Personnel Department,
f$vd, ARTYR, Kingsway, Nagpur-440001

No. P/NAG/CON/2024/23(e-162407)/05 Date:- 30.12.2024

To,
All Concerned,
S.E.C. Railway, Nagpur.

Sub:- Publication of answer key of written examination conducted for selection to the
post of Junior Clerk-cum-Typist in Pay Matrix Level-2 against 33.33% DPQ of
Nagpur Division.

dekkdokkkdokk
In connection to this office Notification No. 92/2024, dated 17.10.2024, the written
examination for selection to fill up 04 (UR-03, SC-00, ST-01) vacancies of Junior
Clerk-cum-Typist in Pay Matrix Level-2 against 33.33% DPQ of Nagpur Division has been
conducted on 27.12.2024. ‘

As per extent provisions, Answer key alongwith Question paper of the aforesaid
examination is hereby published for information. However, candidates may also download the
answer key from the official SECR website i.e. secrindianrailways.gov.in>Dept/Div of
SECR>Division>Nagpur> Personnel>Answer Key.

Further, candidates are advised, if required submit representations against the
questions paper and answer key alongwith supportive proof/documents within 03 (Three)
working days i.e. 18.00 hrs of 02.01.2025 in the office of the Sr.DPO/SECR/NAG in the
prescribed proforma (copy enclosed of Annexure-1). Representations will not be considered
after 02.01.2025. If no representations are received in the specified period, it will be assumed
that the concerned staff has no objection with the question paper & answer key for the
instant selection.

Encl:-
1. Annexure-1 ) &
2. Answer Key of exam dtd. 27.12.2024. D/ Al
3. Question Paper of exam dtd. 27.12.2024. y

(Swetha NK Chhoriya)
Divisional Personnel Officer,
for St.DPQ/SECR/NAG

Copy to:- Ch.0S/Cadre-lll of Personnel Department for information and it is advised to publish
it widely amongst concerned staff.

————————

for Sr.DPO/SECR/NGP
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Proforma for submitting representation against the question(s)/answer(s)

Q. No.

Answer as per
model answer key

Answer  as
per candidate

Brief remarks along with relevant rules supporting
the claim

Signature of the candidate




ANSWER KEY for Selection to the post of Jr.Clerk cum Typist in
level-2 against 33.33% DPQ OF All Department, NAGPUR Division Dt

27/12/2024
Correct | Ques | Correct | Ques Correct | Gues Correﬁctﬁ:J
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C 35 B | 69 B 103 A
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Question paper for Selection to the post of Jr.Clerk cum Typist in level-2

against 33.33% DPQ OF All Department, NAGPUR Division

Date 27.12.2024 Time: 120 min Max. Marks:
100

Instructions to the candidates/ 37394t & faw Rder:

1. There are total 110 objective multiple choice type questions with four answer
options including 10% questions on Official language policy and rules (Sl no.
101 to 110) which are optional. However, the candidates are advised to attempt
any 100 question. In case the candidate answers more than 100 questions,

first 100 attempted questions will be taken for evaluation.

2. The candidates should follow the instructions given in the exam hall

scrupulously.
3. There shall be no negative marking for incorrect answers.

4. Candidates using unfair means will be taken up under D&A Rules and they

will be debarred from the suitability.

5. Candidates are not allowed to keep mobile phones/electronic gadgets or

any other documents/papers with them in the examination hall.

6. Question paper has been set in bilingual (i.e. Hindi & English language). If
there is any confusion in translation or otherwise, the English version will be

followed.

1. el 110 d%gﬁboagﬁﬂw?dﬁﬂw%qeﬂ%,ﬁﬂﬁﬂﬂﬁwg,%mﬁ
TSt Afa 3R @Te (A 101 & 110) W 10% 92T A §, S depfeds
g1 gTellteh, 37ITAIT I Tellg & ST § Tob o His 7 100 9 g Y| TS
379t 100 & 31fF gl & 3 Sl g, o 9go 100 gof fohT 1T gt &l
Hodiehel & forv forr S|

2. 35t Fr 9dieT g A U v AT FT SARERT & 9Telel HeT dIgy|



3. ITad 3T & o P TPRICHS 3ihed Aal g1

4. IR W] ST 3UAET A dTel HeIRAT 9T 31 U U Al & dgd hrars
dr SEelr AR 30 AeIar § aRdT F fear SmeeT|

5. 3737 @ 96T gl H 39 ATT AGSo BldA/Selaciieis ol AT PIg 3
CEATASI/FETSITT TG &I AT T g

6. AT gfaesT (IR fEEr 3R el amen) A SR fhar A g1 IiE 3ejare ar
3T R TRE T DS 35T g, dl IS GEROT &7 qTeled fhar STem|

Q1: Two trains are moving in opposite directions with speeds of 50
km/h and 70 km/h. What is their relative speed?

(@) 20 km/h
(b) 60 km/h
e (c) 120 km/h
(d) 150 km/h

ar o faudia feemat & 50 ferefi/aer 3R 70 frsfveer & oifa @ o &
g1 3eTehr @rdeT I1fa Far 872

Q2: If a shopkeeper buys an item for ¥500 and sells it for 600, what
is his profit percentage?

(@) 15%
(b) 20%
(c) 25%
(d) 30%



Ifg v gFeIeR 500 A Uh avq @liear § iR 600 F d=ar §, o
SHRT o187 AT FAT BIam?

(a) 15%
(b) 20%
(c) 25%
(d) 30%

Q3 : A shopkeeper wants a profit of 25% on an item with a cost price
of ¥200. At what price should he sell it?

Tsh ghlelcR T200 & oI Hed dlell a&d W 25% T o1sT Aecm &1 3H
3 Thd Hed W ST AMgU?

Q4 : Find the compound interest on ¥8,000 at 10% per annum for 1
year, compounded half-yearly.

(a) 800
(b) 2820
(c) 2810
(d) %805

8,000 I 10% af¥er ax & 1 a¥ & v Grdaif¥e wswgefe) wshaefa
SIS fohct=T gramm?



Q5 : A man bought an article for 500 and spent ¥50 on repairs. He
sold it for ¥600. Did he make a profit or a loss, and by how much?

(a) Profit 50
(b) Loss %50
(c) Profit 100
(d) Loss %100

U AfFT & I500 H Uk ¢ TS 3R 30 W I50 Hi FAFAT HI| 307
sﬁisooﬁﬁﬁmlwmﬂgmmmﬁraﬂ?m?ﬁ?

. (a) & T50
. (b) &f 750
. (c) @ T100
. (d) &f 2100

Q6 : A shopkeeper gives two successive discounts of 10% and 20%
on an item marked at ¥500. What is the selling price?

T ghlelgR T500 & 3ifehd Hed W FAW: 10% 3R 20% HT & T &dr
¢l a&d a1 faha o &1 82

. (a) 400
. (b) 360



« (c) %350
. (d) %300

Q7 : The cost price and selling price of an item are in the ratio 4:5.
What is the profit percentage?

(a) 20%
(b) 25%
(c) 30%
(d) 35%

Teh TE] & oI FHed AR T Heg & 3T 4:5 HECIERIGHGEERI
g?
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Q8: What will be the simple interest on ¥5,000 at 10% per annum for
3 years?

(a) 1,500
(b) 1,250
(c)
(d)

32,000
<1,000

Cc
d

¥5,000 9T 10% arf¥ss T & 3 a8t H HTURUT AT fohdelT 219m?

<1,500
31,250
32,000
<1,000

a
b
Cc
d

(@)
(b)
(c)
(d)



Q9 If the simple interest is 600, the rate is 8% per annum, and the
time is 5 years, what is the principal amount?

(a) 1,500
(b) 2,000
(c) Z1,200
(d) 1,800

I ATYIROT sAToT T600 g, sAToT &7 8% ai¥eh ¢ IR gAT 5 Iy g, o
Horerel fohcelr 87

a
b
C
d

<1,500
32,000
31,200
<1,800

(@)
(b)
« (0
(d)

Q10 For a principal of 34,000, simple interest of ¥640 at a rate of
8% per annum, find the time.

34,000 & FHererel, 3640 & HYUROT AT 3R 8% @l & & fav ##A7
T gIeT?

(a) 2 a¥
(b) 4 a¥
(c) 3 a¥
(d) 5 a¥

Q11: A sum of ¥10,000 earns a simple interest of 32,000 in 4 years.
What is the rate of interest per annum?



10,000 &1 TRr 9T 4 gut A F2,000 T JTIROT sATaT Aford arar &
arf¥es sITaT 8T AT 82

(a) 5%
(b) 10%
(c) 6%
(d) 8%

Q12 If the principal is ¥7,000, rate is 5% per annum, and time is 3
years, find the total amount at the end of the period.

. (a) 8,050
. (b) 8,000
. (c) 7,150
. (d) 7,500

gie Feresl 7,000 §, X 5% arf¥e § 3R ¥#F 3 a¥ §, ar 3@ & 3id
A FoT AR 41 grefr?

38,050
38,000
37,150
37,500

a
b
Cc
d

(@)
(b)
(c)
(d)

Q13: In how many years will a sum of money double itself at 12.5%

per annum simple interest?

« (a) 6 years
o (b) 8 years



e (c) 10 years
e (d) 12 years

12.5% dTi¥eh WTEROT sATsT 9T Teh A Fohclel ast & Srafeir g1 sheafr?

. (a) 6 ay¥
. (b) 8 a¥
« (c) 10 a¥
e (d) 12 a¥

Q14 If 6 workers can complete a task in 12 days, how many days will
8 workers take to complete the same task?

g7 6 FAART Thell T H 12 el # QU ad g, df 8 HAUN 38 H
HI fohcel f&at 7 g &

. (a) 8 e
. (b) 9 fe=T
e (c) 7 e
e (d) 6 fe=T

Q15: What is the compound interest on 10,000 at 10% per annum
for 2 years (compounded annually)?

32,000
32,100
32,200
32,300

a
b
Cc
d

(@)
(b)
(c)
(d)



310,000 W 10% aTf¥er X & 2 auf 7 (A1¥e =shde ™) el sarel
fohdar gram?

(a) 2,000
(b) 2,100
(c) 2,200
(d) 22,300

Q16: An item is marked at 400 and sold at ¥320. What is the

discount percentage?

FAT 872

Q17 : In how many years will ¥5,000 amount to 6,050 at 10% per
annum compound interest?

(@) 2 years

(b) 3 years

(c) 4 years
(d) 1 year

35,000 T 10% a1f¥e Tdeld st & & 6,050 dtet #H forcdsr av
CEIEIe



(a) 2 a¥
(b) 3 a¥
(c) 4 Iy
(d) 1 ay¥

Q18 : What is 20% of ¥5007?

(a) 80
(b) 290
(c) 100
(d) 120

3500 T 20% Tohdar grem?

Q19: A price of a product increased from %1,200 to ¥1,500. What is
the percentage increase?

Q20: 15% of a number is 90. What is the number?
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Y & &1 15% 90 &1 dg I&IT AT 87

(a) 600
(b) 650
(c) 700
(d) 750

Q21 : The ratio of two numbers is 3:4, and their sum is 140. What
are the numbers?

. (a) 60, 80
. (b) 70, 70
. (c) 90, 50
. (d) 40, 100

al T3 @1 AT 3:4 & 3R 3T IleT 140 &1 TEAC F4AT 27

60, 80
70, 70
90, 50
40, 100

a
b
Cc
d

(@)
(b)
(c)
(d)

Q22 : Simplify the ratio 36:48.

a) 4:3
b) 3:4
c

6:8

d

(@)
(b)
(c) 9:12
(d)

37T 36:48 @I Tl AL



a) 4:3
b) 3:4
C

6:8

d

9:12

(a)
(b)
(c)
(d)
Q23: A sum of 8,000 is lent at a rate of 10% per annum. Find the
simple interest for 1 year if interest is calculated half-yearly.

(a) 400
(b) %800
(c) T900
(d) Z1,000

¥8,000 &r UMY & 10% ai¥e T W IR fear =am| Ife sarsr $r o
YIS T F & ST &, O 1 ¥ & AT JrIRoT ST AT H

. (a) 400
. (b) 800
. (c) 900
. (d) 1,000

Q24: A can complete a work in 10 days, and B can complete the
same work in 15 days. How many days will they take to complete the
work together?

A U w & 10 feat & 3R B 38T & &1 15 feaAt # @ T Fehell &
gl AT 1 A fordel el # T FHEN?

« (a) 6 feat



. (b) 8 oo
e (c) 9 fee
. (d) 5 fea

Q25 : A is twice as efficient as B. If B can complete a task in 12
days, how many days will A and B take together to complete the
task?

(a) 4 days
(b) 6 days
(c) 8 days
(d) 9 days

A, B @ & 9 3t perel €1 I B el & ot 12 et & qur o
Hhal &, dl A 3R B fAe &R &l fohdel ot & 9 ser?

. (a) 4 &
. (b) 6 fe=T
. (c) 8 feat
e (d) 9 fe=T

Q26 : A car travels 240 km in 4 hours. What is its average speed?

40 km/h
50 km/h
60 km/h
70 km/h

a
b
Cc

(
(
(
d

)
)
)
)

Teh R 4 g & 240 e i Im=r et §1 5@ sitma afa =2 872

(a) 40 fafy/ger
(b) 50 farafv/ger
(c) 60 Freeer
(d) 70 frafv/eer



Q27: A train is traveling at a speed of 90 km/h. How much time will it
take to cover 180 km?

(@) 1 hour
(b) 2 hours
(c) 3 hours
(d) 4 hours

Teh o7 90 Tehel/erer 1 afd & ot W@ &1 180 forely T gt q &t A
fohaeT §HT ofam?

a) 1 9er
b) 2 G
c) 3 g
) 4 G

d

(
(
(
(

Q28 : A person walks at a speed of 5 km/h for 3 hours. How far
does he walk?

g2



Q29 How many Railway Recruitment Boards (RRBs) are there in
India?

(a) 15
(b) 21
(c) 25
(d) 30

ARd F fraer o9 &t 9% (RRB) &2

(@) 15
(b) 21
« (c) 25
(d) 30

Q30 Where is the headquarters of Indian Railways located?

e (@) Mumbai
o (b) Delhi

« (c) Kolkata
o (d) Lucknow

AT Y T ATATT Fgl T g7

Q31: How many zones are there in Indian Railways?

« (a) 15
. (b) 16



AR Tord H Torcsl ST 87

« (a) 15
. (b) 16
e« (c) 17
. (d) 18

Q32 : Which is the fastest train in India?

a) Shatabdi Express
b
C
d

Gatimaan Express
Vande Bharat Express

(a)
(b)
(c)
(d) Duronto Express

AR & &0 dof ¢l hleT AT 87

(a) rdTsCT TFHYH
(VEUGLIGRE L]
(c) d¢ HRA TFAIH
(d) gqar TrEsH

Q33: In which year was the Railway Budget merged with the General
Budget?

Iod d9lc &l AT Soc # g a¥ f&emar ar ar?

. (a) 2015



. (b) 2016
. (c) 2017
. (d) 2018

Q34: Which railway station has the largest platform in the world?

(a) Gorakhpur Junction
(b) Kharagpur Junction
(c) Allahabad Junction
(d) Secunderabad Junction

gieraT T Fad F3T {9 CIThIA fohd Yold T T 82

(a) IRGYR STFreT
(b) WSIYR ST
(C) STEIETG STerleT
(d) TreheraTe SierereT

Q35: When did the first train in India run?

Q36 Konkan Railway connects which two cities?

e (@) Mumbai and Mangalore



e (b) Mumbai and Goa
e (c¢) Pune and Chennai
e (d) Kochi and Bangalore

HIRUT YeId foheT &l BT T s &2

. (a) Has AR AT
. (b) Has AR alar
. (c) 9UT 3R d==Tg
o (d) ;T IR LT

Q37: Where is the Rail Coach Factory located?

a) Varanasi
b
C

d

Kapurthala
Chennai

(
(
(
(d) Kolkata

)
)
)
)

Yol T herdl gl feud g7

a)
b)
c) Ueels
d) Prelerrdr

(a) IRTOTEY
(b) PTHeT
(c) U=

(

Q38 : Which is the oldest railway zone in India?

a
b
Cc

Eastern Railway
Southern Railway
Western Railway

(@)
(b)
(c)
(d)

d) Central Railway

IRT T gad QR ol ST hieT AT 82

. (a) ¥ Yo d



« (b) T3Y Ted
« (c) d¥T Ied
« (d) ¥ Yo

Q39 : Which of the following is a luxury train operated by Indian
Railways?

(a) Rajdhani Express
(b) Shatabdi Express
(c) Palace on Wheels

(d) Duronto Express

fArafaf@a & @ &l @ #RAT Y69 garT Fdarfard T oFeil ¢l 872

Q40 : Which fund is primarily used for the welfare of railway
employees?

a) General Provident Fund
b

C

Railway Employees’ Welfare Fund

(a)
(b)
(c¢) Railway Surplus Fund

(d) Contingency Fund

Yol HAARIT & FHoA0T & v A&T &7 & hg s 1 30T fohar ST

g2

(a) I Afasy fafer

(b) ¥oTd HATTRAT HT FHearor AT
(c) Yord HfaAy fafer

(d) 3fEAs Afy



Q41 Which section of the Railways Act, 1989, deals with railway
accidents?

(a) Section 113
(b) Section 123
(c) Section 145
(d) Section 150

Yerd 3ifafaea, 1989 1 Fl T aRT Yord gHe-3T & Hfd g7

Q42 : What is the name of the health scheme introduced for railway
employees?

a) Ayushman Bharat

b) Central Government Health Scheme (CGHS)

c) Railway Employees Liberalized Health Scheme (RELHS)
d

(@)
(b)
« (0
(d)

Employee State Insurance Scheme (ESIS)

Yord AU & TIU A& $HT TS T AISTAT AT ATH 4T 872

o (a) 3TTSATT AT

« (b) FET THRT TRELT JiotelT (Hohvawd)

e () YT AR 3ER TARLY Aol (IRSTATIATY)
e (d) FHATRT TS AT Ao (STHETH)

Q43: Indian Railways promotes sports through which organization?

« (a) Railway Sports Promotion Board
e (b) Indian Olympic Committee
« (c) National Sports Federation



o (d) Sports Authority of India

AT Y9 Woll ol Je1aT & & Tov fofg TaoeT & ATEIH & FRY FHdT
g?

. (a) Y09 W HaYA A5
« (b) HRAT 3Neaes afAfa
. (c) T WoT HgrEY

e (d) HRAT Wl UTfRIoT

Q44: What are the Railway Institutes primarily meant for?

a) Training programs
b
C
d

Recreational activities
Skill development

~ A~ A~ A~

)
)
)
) Employee grievances

Yed G qET ¥ & fREd e g €7

(a) ITRAETOT FRIHH
(b) FARSI arfafafear
(c) dierer fasra

(d) FFIRT AR

Q45 : How many earned leave days are railway employees entitled to
in a year?

[ ]
—~ —~ —~ —~
O
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Iod HATMRIT HI Teh a¥ H fohder 3fSTT 31dahrer (Earned Leave) &7
HRAFR grar g2

(a) 15 &
(b) 30 f&eT
(c) 45 &=t
(d) 60 fe=T

Q46 : How many casual leave (CL) days can a railway employee avalil
in a calendar year?

Q47 Which city is known as the "Silicon Valley of India"?

« A) Bengaluru
« B) Hyderabad
« C) Pune

e D) Mumbai

FiT AT AT AR A 'RAfFer 3l & a7 T &1 Srar 82



. D) 7wk

Q48 : What is the duration of paternity leave granted to male railway
employees?

« (a) 7 days

« (b) 10 days
« (c) 15 days
« (d) 20 days

TR Yold AR &l Tohcel feail & TWcfed 3raeprer fear Sirem 872

Q49: How many days of Child Care Leave (CCL) can a female
railway employee avail in a year?

a
b
Cc
d

120 days
180 days
240 days
365 days

(
(
(
(

N S N N

Afgell YoId HHART Teh d¥ A Tohddel feail &1 I8¢ AT &g (CCL) o
bl &7

a) 120 fea
b) 180 fe=T
c) 240 fe=T
)

d) 365 feat

(
(
(
(

Q50: How many days of leave are granted to railway employees
participating in sports events?



° .
—~ —~~
o 0
N N
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(c) 45 =T
(d) 60 feaT

Q51: Extraordinary Leave (EOL) is granted in which of the following
situations?

« (a) lllness without leave balance
« (b) Family emergencies

« (c) Higher studies without pay

« (d) All of the above

IATYROT 3791 (EOL) fohed aRfEafaar & feam mar g2

a) AP doid o glad W SART
b) aTRaTRek 3maTdehrer

c) foaIr adeT & 3= frem

d) 3uerd gl

(
(
(
o

Q52 : How many days of leave encashment are allowed during

retirement for railway employees?

« (a) 120 days
« (b) 150 days
« (c) 300 days



« (d) 365 days

Yord AT Y QTG & GRTeT Thclal T&eAl & 37aehIN T Ahdleniv]
fear Srar g7

« (a) 120 fea
« (b) 150 f&
« (c) 300 fe=1
« (d) 365 f&sT

Q53 : What type of pass is issued to railway employees for free
travel?

a
b
C
d

Duty Pass
Privilege Pass
Holiday Pass
All of the above

(@)
(b)
(c)
(d)

Yo AT @ freed A & v i @1 98 ARy R ST g7

Q54 : Who wrote the Indian National Anthem?

« A) Rabindranath Tagore
. B
. C
« D) Sarojini Naidu

Allama Igbal

)
)
) Bankim Chandra Chatterjee
)

HRT &1 I I Faar forar a1?

o A) Wigay s



o B) 3fccllAT Schdld
. C) dfA dg gceareara
. D) WIS aArrg

Q55 : What determines the rate of dearness allowance (DA) for

railway employees?

(a) Inflation Index

(b) Government Notifications

(c) Basic Salary
(d) All of the above

Yord FAARA & fIU A o (DA) $r &¥ fFa T AR e 272

Q56: How often is the dearness allowance (DA) revised for railway
employees?

a
b
Cc

Monthly
Quarterly

(a)
(b)
(c) Half-yearly
(d)

d) Annually

o HHORET & fAv #Agens sar (DA) frdst IR gfa frar siar §72



Q57 :

Railway employees must follow conduct rules as per which

document?

(a) Railway Manual

(b) Railway Servants (Conduct) Rules, 1966
(c) Indian Constitution

(d) Industrial Disputes Act

Yord AT @l fhd cEATdST & AN ITeROT AGAT T dreled AT
qIfgu?

: Can railway employees participate in political activities?

a) Yes, with prior permission
b

c) Yes, if off-duty

d) Only for local elections

(@)
(b) N
(c)
(d)

FIAT I60d HHATRT Tiifaes FfAfafeat & e o dhd 872

Q59

(a) &, & AT & a1y

(b) =TT

(c) &, I 3T W AL &
(d) shad T ATl & fAT

: Which of the following are the components of a railway

employee's salary?

(a) Basic Pay
(b) Dearness Allowance



(c) House Rent Allowance
(d) All of the above

9 IR & dded & Pid-bied & Teh Bl 87

(a) T A=

(b) HEaTS 7T

(c) HFTA TRIAT AT
(d) 3T gafr

Q60: The pay scale of railway employees is determined by which

commission?

a
b
C
d

Railway Recruitment Board
Pay Commission
Central Government

(@)
(b)
(c)
(d)

Railway Board

Yed FHAART T AdAAT Tord 39T ganr uiRa frar arar 872

a) Yod #cr a8
b) adel ATART

C) g TR
)

(
(
(
CIRGERCIE

: When is the salary of railway employees usually credited?

a) 1st of the month

7th of the month
15th of the month

C

(a)
(b) Last working day of the month
(c)
(d)

IeTd HATIRAT T AdeT AR W e FTAT HAT FATT &2

(a) 7T T 1 A



. (b) #E &r 3ifaw FIT Gaa
« (c) A AT 7 AR@
e (d) AL & 15 daR@

Q62 : HRA for railway employees depends on:

« (a) Basic Pay

« (b) City of Posting

« (c) Both (a) and (b)

« (d) None of the above

9 FATIRAT & v HRA fvg o AR &ar g7

(a) Fe dceT
(b) TSI HT AT
. (c) (a) 3R (b) et
(d) 3RFT & T FIS LT

Q63: What is the minimum wage set for Group D railway employees
as per the 7th Pay Commission?

312,000
318,000
322,000
325,000

a
b
Cc
d

N S N SN

(
(
(
(

¥ord & g7 D FHAUIRAT & AT 7d dcfel 3T & 36TdR wgeAdH dolel a1
87

312,000
<18,000
322,000
325,000

(a
(b
(c
(d

[ ] [ ] [ ]
N N N N

Q64 : How often are wages paid to railway employees?



(a) Monthly
(b) Weekly
(c)
(d)

c) Bi-Monthly

d) Annually
T HAAIRAT T ade fhder IR fear Jrar &7

(a) AT ES

(b) HTCATRH
(c) efa-fash
(d) arf¥=

Q65 : Which organization handles recruitment for Group C railway
employees?

(a) Railway Recruitment Board (RRB)
(b) Railway Board
(c) Indian Railway Institute

(d) Ministry of Railways

I C ¥ HAARIGT HT &7l wleT T HISeT Al §7?

a) Yold #dr a5 (RRB)
b) YoId &I

) AR Teld FEATT
d) Yo FATT

C

(
(
(
(

Q66 : What is the upper age limit for applying to Group D posts in
Indian Railways for general category?

o (a) 28 years
« (b) 30 years
o (c) 33 years
e (d) 35 years



HRAT Yod & 39 D wal & v GAT 937 & 3FAIGart &1 3Hieesdd
3 HAT T §?

(a) 28 a¥
(b) 30 I
(c) 33 a¥
(d) 35 a¥

Q67: Which of the following is a central training institute for Indian
Railways?

IRITM

IRICEN

NAIR

All of the above

a
b
C
d

(@)
(b)
(c)
(d)

T # O Pl AR I FT HaIT TATOT FEATA &7

(a) IRITM
(b) IRICEN
. (c) NAIR
(d) 3uera GalY

Q68 : What percentage of basic pay is provided as Transport
Allowance for metro cities?

. (a) 10%
. (b) 20%
. (C) 24%
. (d) 30%

ATl e & fow Yord FAaRAT FI AT AT (Transport Allowance) & &9
#A HT ddel H1 e gfaerd feam sirar g2

. (a) 10%



. (b) 20%
. () 24%
. (d) 30%

Q69 : Which allowance is given to railway employees working during
night shifts?

(a) Over Time Allowance
(b) Night Duty Allowance
(c) Risk Allowance

(d) Hardship Allowance
Td T gTell H FIH aa dTo I9d FHATRIAT I i T AT &1 ST 2

(a) 3icReTSH 7T
(b) FT$T SFET ST
o (c) SNT@H o=
(d)

d) i sar
Q70 : Who is known as the "Missile Man of India"?

A
- B
C
D

Vikram Sarabhai
A.P.J. Abdul Kalam
Satish Dhawan
Homi J. Bhabha

)
)
)
)

HRT & 'AuEd A9 F a7 ¥ FlT I T §2

o 0O W >
A
==
al

Q71 Who was the first Governor-General of independent India?



e A
. B
. C
« D

Lord Mountbatten
C. Rajagopalachari
Jawaharlal Nehru

)
)
)
) Rajendra Prasad

TadT R & YgA IGeiX el i 4?

« A) dis #A3cscd
. B) @Y. TSINUTATARY
« C) AT Ig®

. D) USig ydg

Q72:Which type of loan is provided to railway employees for their
children's higher education?

(a) Housing Loan

(b) Consumer Loan

(c) Educational Loan

(d) Emergency Loan

Id HAATRAT hl 3Tk gdi I 3T AT & v i ar wor fear Jmar
g?

a
b
Cc

Ay ®oT
SYHFAT ROT
fRretr ot

d) 3TATcIehTelle FUT

(@)
(b)
(c)
(d)

Q73 : Who is the current Minister of Railways in India (as of 2024)?

« (a) Nitin Gadkari

« (b) Ashwini Vaishnaw
« (c) Piyush Goyal

e (d) Suresh Prabhu



RA & dJATT Yol HAIT (2024 TF) HiA g7

. (a) AT arsml
« (b) 31RaeT avurg
. (c) YW IS
o (d) TR TI

Q74 : Who is the Chairman and CEO of the Railway Board?

(a) V.K. Tripathi
(b) Sunil Sharma
« (c) Satish Kumar
(d)

d) Manoj Joshi

o S5 & 3regeT 3R 83 Sl 82

Q75 : How many General Managers (GMs) are appointed across the
zonal railways in India?

« (a) 15
« (b) 17
« (c) 20
« (d) 25

AR & &9 el & fovda Agvees (GM) faged fhe sa g7
. (a) 15
. (b) 17
(c) 20
(d) 25



Q76 : Who is the head of the Indian Railway Catering and Tourism
Corporation (IRCTC)?

(a) Rajesh Tiwari

(b) Sanjay Kumar Jain
(c) Pankaj Kumar
(d) Sanjeev Mittal

HRAG Yo @A 3R 9desT e (IRCTC) & 974G whieT 82

Q77 : Which station has been recently redeveloped as a world-class
station?

a
b
Cc
d

. Habibganj (Bhopal)
New Delhi

Chennai Central

(a)
(b)
« (0
(d) Howrah

glel €1 & fohd TRAT Y TaaEIg T o &9 H YATaoh & fohar
g7

(a) ESTSETST (3Te)
(b) 775 ferelr

(c) TeTs Hgel

(d) grast

Q78 : Who is the administrative head of a railway division?

« (a) Divisional Railway Manager (DRM)
o (b) General Manager (GM)



o (c) Chief Administrative Officer (CAQO)
« (d) Station Superintendent

Yold HSol T YIS JHG hieT BT 872

. (a) #SA I gaysh (DRM)

. (b) FETEUF (GM)

. (c) AT werETAE R (CAO)
o (d) ¥ 3refeTh

Q79 : Which is the largest zonal railway in terms of route length?

a
b
C
d

Northern Railway
Western Railway
Eastern Railway

(
(
(
(

SN S N N

South Central Railway
AT SE8 & 3MUR R TG 987 &1 Yoid dieT a1 g7

. (a) 3 Yerd

. (b) ufRa#r T&d

. (c) gt Yora

. (d) gf&yor HET Yo

Q80 : How many Railway Recruitment Boards (RRBs) are there in
India?

R # frdet Ied #1df a1s (RRB) g7

« (a) 15



. (b) 21
« (c) 25
. (d) 30

Q81 : Where is the largest locomotive manufacturing unit of Indian
Railways located?

(a) Varanasi
(b) Chittaranjan
(c) Kapurthala
(d) Perambur

AR o3 &7 G 987 S99 AT SFS Fal dd §7?

Q82 : What is the name of the research and development organization
of Indian Railways?

RITES

IRCON
RDSO

CRIS

a
b
Cc
d

(@)
(b)
(c)
(d)

HRAT Y0 T 3TEUTT 3R [apra Haroa Sl @1 872



Directions:( Q. no-83 to 87): Choose the nearest meaning or synonym of

the given words:
Q 83 BENEVOLENT
(A) Generous (B) Strict (C) Harsh (D) Poor
Q 84 AUDACIOUS
(A) Timid (B) Bold (C) Quiet (D) Gentle
Q 85 ENIGMATIC
(A) Clear (B) Simple (C) Mysterious (D) Direct
Q 86 PRUDENT

(A) Reckless (B) Wise (C) Hasty (D) Careless

Q 87 TENACIOUS
(A) Weak (B) Persistent (C) Fragile (D) Delicate

Q 88 The opposite of "fertile" is:

a) barren b) productive c) rich d) abundant

Q 89The antonym of "industrious" is:

a) lazy b) busy c) active d) energetic

Q 90 Choose the opposite of "discourage":

a) dispirit b) encourage c) depress d) disappoint



Q91 Beat around the bush" means to:

a) avoid the main topic b) search in gardens c) exercise outdoors
d) trim plants

Q92 Spill the beans means to:

a) reveal a secret b) drop food c) cook beans d) make a mess

Q93 Fill in the blank: " apple a day keeps the doctor away."
« () A
« (b) An
« (c) The
« (d) None of the above

Q 94 What is the meaning of "Once in a blue moon"?

a) Always

b) Very rarely

c) Frequently
)

d) Regularly

Q 95 Choose the correct noun from the sentence:
"The train arrived at the station on time."

a) Train

b)
c)
d)

Arrived

At
On



Q 96 Identify the proper noun in the sentence:

"Rajdhani Express is one of the fastest trains in India."

a) Express

b) Rajdhani Express

c) Trains
)

d) India

Q 97 Identify the verb in the sentence:

"The locomotive pulls the train with great force."
a) Pulls

b)

c) Train
d)

Locomotive

Force

Q 98 Choose the correct form of the verb:

"The passengers waiting for the delayed train."
a) ls

b) Are
c) Was
d) Be

Q 99 Identify the adjective in the sentence:

"The railway station was extremely crowded."

a) Extremely

b) Station

c) Crowded
)

d) Railway

Q 100 Choose the sentence with the correct use of an adjective:
a) The train arrived late.
b) The faster train is preferable for long-distance travel.



c) The passengers loudly boarded the train.
d) The ticket is printing now.

0 wea 101:
ST HRAATH & 3aR S Y TSTHT T &Sl b Fem Irar?
(@) 7 (@) 8 (3n) 9 (&) 10

0 9T 102
TSTHTT AT FT o9 §3T?
(h) 1976 (@) 1955 (1) 1950 (&) 1963

0 wea 103
qfaerer # f&Er omeT A fohd 3reTede A TSI T goir feam g7
(@) 9 (@) 10 (M) 11 (&) 12

0 9o 104

AUl & 3efede 343(3) & AR, &S T AT FT et FhArRed
A g FAT U fohar TT?

(&) T&dr ufretor (@) 3T dr TATTT

() &S =T dicaTget (9) GiaemsT sgaear

0 wea 105

Hiaere 7 ot AT & i fhe 3eyeoe # §7?
(%) 3Tooq 343 (@) HeqedE 344

(1) 3reTede 348 (6) 3ieeda 349

0 9T 106

TSTeTST I 1976 & gl TSTHINT AT T HET 36T &1 g7
(&) & 1 gaeT (@) T gEaast # 39T

(3N) HicaTgsT Td fahrd (9) @l

0 9 107
Tt AfRAfATH & dgad afafa e fha 3egeT & forar = g7



(F) e A (@) fdreTor
(31) TaprE AT (H) FAGHR HErIl

0 9T 108
TsT TSN TTAHNT Aifd & ded fordalr dTr3t &1 39T adr 87
() 2 (@) 3 (@M 4 (H)S5

0 9ReT 109

TSI AT 1963 & (AR fha &7 7 f&dr sifaard 872
() THRT FATET (F) 3Td AT

(@1) FET FEA (7) darOE e

0 9o 110

TSTHTST Afd T 3T T 87
() T&cr T TS ST SATeAT
(@) RS &l JaR-9arR

(1) f&dr fRuator (=) el
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